3" Year Revision Test: Primary Economic Activities

Name:

(1) Name on large scale irrigation scheme you have studied. Write an account of what it
IS trying to achieve and two disadvantages associated with the scheme. (20 marks)

(2) Explain two reasons for the decline in fish stocks in Irish waters in recent years and
two steps that are being taken to prevent over exploitation of these stocks. (20 marks)

(3) Name and explain 3 machines that are used to exploit peat today. (15 marks)




(4) How has the production of oil affected Saudi Arabia? (10 marks)

(5) Give an example of one input, one process and one output of farming. (10 marks)

(6) What are finite resources and give an example of one? (10 marks)

(7) What are cutaway bogs and how can people use them in the future? (10 marks)

(8) Give one example of a renewable resource. (5 marks)
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